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Code No. : BC-395
Online Annual Examination, 2022

B.C.A. Part Il
Paper V
DATA STRUCTURE
Time : Three Hours ] [ Maximum Marks : 80
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Note : Section ‘A’, containing 10 very short answer type
questions, is compulsory. Section ‘B’ consists of
short answer type questions and Section ‘C’
consists of long answer type questions. Section ‘A’

has to be solved first.

qug ‘A’

Section ‘A’
freTfena sifa &g STRIT 99 & 3K U 9T & i)
7 T
Answer the following very short answer type

questions in one or two sentences. 1 x 10 =10

P.T.O.
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. TReR | ¥ ?

What is Algorithms ?

. S W 78 ?

What is Data Structure ?

. W Y ?

What is Pointer ?

. Tt w1 8 2

What 1s Record ?

. Queue F & ?

What is Queue ?

. LIFO &1 QU -1 1 ¥ ?

What is the full form of LIFO ?

. Thread ®1 T ?

What is Thread ?

. ST S W e e wHEa ¥ ?

What do you mean by binary tree ?
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Sorting ¥ 19 1 FHIA & ?

What do you understand by sorting ?

T Wk H g = w2

What is searching is Data Structure ?
gus ‘9’

Section ‘B’

freTifea &g ST 9991 & S 150-200 315 Gia7
H I

Answer the following short answer type questions
with word limit 150-200. 4 x5=20

forelt STel TR | TN & S Tl JAgd AT
1 GHHAET |

Explain the basic operations carried out in any data

structure.
37qdT

Or

TRl WFR H WA & oM ol fafy= J&R i
eI T GHEEY |

Explain different types of notation used in data

structure.
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2. W I 9 1 9930 € 7 WD WR WFR hl

HELARY |
What do you mean by Array ? Describe the storage

structure of Array ?

3Aar
Or

‘Pointer to pointer’ Eq) HASATRU |

Explain ‘pointer to pointer’.

. Linked list ¥ Y[&aTd | g e & foaq Tewnen

fafe |

Write an algorithm to insert a node in the beginning
of the linked list.

YT
Or
Stack 1 ¥ ? T &I Postfix § sy |
(a+ D) * (c—d
What is Stack ? Convert the following expression into
postfix.
(a+D)* (c—d
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4. I T & fafa= gl S gHEmET |

Explain different types of Binary tree.

AT

Or

3 P traversing ¥ 37T I U § 7 IR0 T
REEIENY

What do you mean by traversing a tree ? Explain by

giving own example.

. Selection Sort fafr ¥ F= & dcdl I G A &
fau wemften fafe |

Write an algorithm to sort a list of elements using

selection sort technique.

AT

Or

[ ¥ 379 R GHd & ? HHSRY |

What do you mean by merging ? Explain.
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Section ‘C’
fefsd e ST g9 & S 300-350 I HiH
q gIT )
Answer the following long answer type questions
with word limit 300-350. 10 x 5 =150

. Complexity =1 % ? Time complexity 3R Space

complexity ol IR0 Higd THAE |
What is Complexity ? Explain time complexity and

space complexity with example.
YT
Or

Recursive 3TR non-recursive THaRTT ! 3TTELN T
AT Algorithms § 3 3 wi&d ® 2
Explain Recursive and non-recursive function with

example. Why is it important in algorithms ?

. Wfew W R sEhe W A 7 T 99mEy |

Static Array is different from Dynamic array. Explain.
AT
Or

ﬁSDmaﬁixaﬁGﬁgﬁﬁmwﬁﬁm%@EI

Write an algorithm to addition of two 3D matrix.
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3. Infix expression Sl Prefix expression T sger & 5. frafafea W gfaa fewfot fafew .
fou wemiRen fafem qen S I off IHeEmsT | (s1) e
Write an algorithm to convert infix expression to prefix () F&ct T

expression and also explain with example.
Write short notes on the following :

YA .
(a) Hashing

Or (b) Bubble sort

Doubly linked list @1 ST Afgd THATEY |

AT
Explain doubly linked list with example. Or
4. S TE 4 A fedt e & Sed 3R fedlie s forarer @I 3R SHR 4l &l gHART |

%1 ITGeH] ITELUN SRl FHEATSY |

Explain Quick sort and Insertion sort.

Explain inserting and deleting a node in binary search 90000doo0o0oo

tree with suitable example.
3T

Or

T g S H R e w Sied, e @R
traverse {1 o Tod TeReH fafEy |

Write an algorithm to insert, delete and traverse a

node in binary search tree.
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